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Q.1 Statements: |. All insects are dangerous./af s @qATH .
Il. All machines are dangerous. / T #efiv @aATH .

Conclusions: I. All dangerous are insects. /@t @d LA Th ﬁ% s"Q':I
. All dangerous are machines. /Tt
CLEGHE R ]
lll. Some machines are insects/ = )
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(A)Only conclusion (l) follows.
(B)Only conclusion (ll) follows.
(C)Only conclusion (lll) follows.
(D)No conclusion follows.
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Q.2 Statements: All cups are plate / ¥t 9 << &
No plate is a shop. / #s =€ THT TG &.
Conclusions: (1). No cup is a shop./ I F9 TH 751 &

‘ (I). No shop is a plate./ =
wIE TR §

(A)Only conclusion (l) follows.
(B)Only conclusion (ll) follows.
(C)Both conclusions follow.

(D)Neither conclusion (l) nor conclusion (ll) follows

A s ? / o / | +1 : 2 \ * s - x o x
. T T R T s
A = ) 3 SO R ViEaia o,
. 5 - = h 3R e \
y . ¥ TN v N\
e A \ Xaa N
24 A\
e y - v N\
T
. &
(; S 3
¥ 4 \- )
. \ R
N\
2 y &



Q.3 Statements:

. All stars are white. /a+ft X %< g.

II. All white are moon. /AT ¥%< Fi< 2l

lIl. No moon is blue./ FI5 F&HT AT g1 §

Conclusions:

l. Some moon are stars./ T dis fAdN &.

Il. No blue is stars./ = 1T a1 7ol &
lll. Some white are stars./ T a%s AR 2.

IV. Some blue are white./ = i<t
q%e gl

(A) Only conclusion (I) follows.
(B) Only conclusion (lI) follows
(C)Only conclusion (lll) follows

(D)Only conclusmn (I) (II) and (III) follow
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Q.4 Statements: All rulers are machines. / T+t aTaF 7 2.
Some machines are costly items / = wefi« Wt a'{-‘g’l'{ )
Conclusions: |. Some rulers are costly items. /% ST9F AT a'{-‘g’l'{ =y
Il. Some costly items are machines./ = AT a&qC ALf+ B
lIl. All costly items are machines./ T+t 7T a=qq #<fi+ 81

(A)Both conclusions Il and IlI follow
(B) Both conclusions | and Il follow
(C) Only conclusion Il follows
(D) Only conclusion | follows
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Q.5 Statement |: Some ribbons are tapes./ $& RET T g
Statement II: Some strips are ribbons ./ T afgat Raw g
Conclusion I: All tapes are strips./ T+ff 27 ffgwr @
Conclusion II: No strips is tapes./ I %27 27 751 &

(A)Only conclusion | follows
(B) Only conclusion Il follows

(C) Both conclusions | and |l follow
(D) Neither conclusion | nor |l follows




Q. 6 Statements: All polygons are angles./ T g[S I 2|
All angles are diagonals. / T~ft ror fa=ot 2|
All cones are cubes./ T¥T F 99 B
All cubes are decagons. / T+ & ITHTA &
No diagonal is a cube./ Fs a0l 9 751 B.
Conclusions: |. Some diagonals are polygons. / T fa=ul St 8
II. All diagonals are decagons. / Tt fa=oT I3t B

lll. No polygon is a cone./ s g[S S Tal %’
IV. Some cubes are angles./ T ¥ HI g

(A) Both conclusions Il and IV follow
(B) Both conclusions | and |l follow
(C) Both conclusions | and |l follow
(D Only conclusion | follows
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Q.7 Statements: Some plants are vegetable./ $ 9te e gl
All vegetables are vitamins./ T+t afssrat faerfa= gl
Conclusions: |. Some vitamins are plants./3s =T 91 81
Il. Some vitamins are vegetables./ = et afssrat gl
lIl. No vitamin is plant./ &< =T qteT 751 2.

(A) Either conclusion | or lll follows.

(B) Both conclusions Il and Il follow.
(C) Both conclusions | and Il follow.
(D) Both conclusions | and Il follow.
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Q.8 Statements: No bank is an office./ FIs S& FTATAT 5! &.
All offices are stalls./ T+t FIT@T i 2|
Conclusions: |. No bank is a stall./ #15 ft d% i< 781 g
Il. No stall is a bank/ #Is i« dF T85! &
lll. Some stalls are offices./ T Tid FATELT gl
IV. All the stalls are offices./ ¥t Tis FITT 3

(A) Only conclusion | follows

(B) Both conclusions | and |l follow
(C) Only conclusion lll follows

(D) Both conclusmns I and IV foIIow
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Q. 9 Statements: All camels are doves./ T¥T 3¢ FIAL g
Some doves are eagles./ F& FIA< AT gl
Conclusions: |. All camels are eagles. /H‘*ﬁ%ﬁ%r%l (F
Il. Some camels are eagles./FE & A1 gl 3
lll. Some eagles are doves./ & HT FIA &.
IV. Some doves are camels/ T FIAL < &
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(A)Both conclusions Il and Il follow
(B) Both conclusions |ll and IV follow
(C) Both conclusions | and Il follow
(D) Both conclusions | and IV follow




Q.10 Statements: All combs are scales./ ¥t Fi+r T B
Some routers are combs./F TS it %‘
All gloves are routers. / T I&qT TS .
Conclusions: |. All gloves are scales./ T~ & @6t 2
Il. Some gloves are scales./ T ™ T 5.
lll. Some scales are routers./ T Thdl T3 3.
IV. All routers are scales./ . It TS A =.

(A) Only conclusion |l follows.
(B) Only conclusion Il follows.
(C) Only conclusion | follows.
(D) Both conclusions | and Il follow
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Q.11 Statements/®J:
All tea are coffee. / T+ 91T Hithl & |

Some coffee are cold —drinks./ T Hiht Fice-fS® gl
All cold —drinks are thumsup ./ T+ft Fiee-f$® T=a=17 ¢ |
Conclusions:/fAsHy:

All coffee are tea ./ T+t FIhr AT |
.Cold —drinks can be thumps ./ Five-fSaa 9+ g Thd gl
|.At least some thumsup are cold drinks./&H & FH T JFIAT FHlee [SF gl

(A) If only conclusion |, 1l and Il follow.
(B) If only conclusion | follow.

(C) If conclusions | and Il follow.

(D) If conclusions Il and lll follow.
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Q.12 Statements:/ FI:

All boys are intelligent./aft s fEHTT & |

Very few girls are intelligent./sga 7 TS fat G It 8|
None girl is leader./®T< ST gt AaT 51 g |

Some professor are leader as well as boys./ & Tha< AaT $ft g T A=+ |
Conclusions:/ AHy: 7

l.All leaders are professors ./G¥T AdT THa< gl

II. There is a possibility that every girl can be professor./AHt TTa=T &
TR o 9l gl

l1l.All professor can be leaders./@¥t TTHA< 44T &l 9%d @ |

(A) None follows

(B) Only Il follows

(C) Both Il and Il follow
(D) Only Il follows




Q.13 Statements: / FI:

No story is a fiction./ 1= Ht T SIeq=h Ag! g |
Some fictions are poetries./ & FTeqi® HfadTU gl
All fictions are novels./ ¥t FTT AT FATT ITITH g |
Conclusions:/ A%

|.Some %oetries not being novels is a possibility./ $ FfaaTe & T T g4 6t
JHTIAT gl

Il. Some poetries are not stories./ T FAATT FEIAAT A5l g

(A) Only conclusion | follows
(B) Only conclusion Il follows
(C) Both conclusion | and conclusion Il follow
(D) Neither conclusion | nor conclusion Il follows
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Q.14 Statements:/ I S
All cakes are candy./a¥T %% <1 g | 7N

Yy, )
No candy is cream./ #I5 $sT 5hi¥ Tl & | (\ = "Li \)
Some creams are orange./§& siH ATGIT & |
Conclusion:/fAs=:

|.Some cakes are orange is a p033|b|I|ty [T F o ATTAT B hl GHTEAT B |
I.Some cream are not candy./$s HiH el 7al g |

Il.All cakes are orange is possibility./@fT % & ATTT B9 FH THTAAT S |

(A) All follow

(B) None follow

(C) Only | and Il follow
(D) Only Il and Il follow
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Q15. Statements: FJ7
Some card are strip./$ FTe 27 €.
Each strip is bottle./S&® Tgt A &.
A few card are mark./ $ FTe HT# g
Conclusions:/ AsHy:
. All mark being card is a possibility./a¥T 7T & FTe g Fit T9TEAT 2
11. Some bottle are strip./. T Tra<r T2 5.

(A) Only conclusion | follows

(b) Both the conclusions | and li

follow
(c) Neither conclusion | nor |l follow
(d) Only conclusion Il follows
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